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I 'x mwn: dispute n”2/v"a regarding minimal mann that a NN nkon requires (v"a-2; n"a—-1)
a  note: all agree that any other 127p (which requires 2 4 or just 1) is completed (72y72) with one
b therefore: if he placed/threw the first properly, then had ymn nawnn on a later one — 797
II  ’a mwn: Mmann on inner nam (for nma nron) — all agree that all four (corners) are needed
a  therefore: if he put the first 3 properly and the 4" with yin nawnn - %109
i note: cannot be 59, as part of the 7nn (1%t 3 nmnn) was done properly — nnn 31 Y39V TV S0 R
III  source for acceptance of 127p with only one o7 ninn
a A1z v. 1 - (use of singular)
i challenge: v. 1 needed to teach that all o7 (remaining after 7”n7r) must be spilled onto T2
1 answer: he derives that na5n as per 717 — from v. 2 (unnecessary instance of “n7”)
ii  challenge; v. 1 is needed for another derivation — that n'n7 that are to be “spilled” may be thrown and vice-versa
1 answer: author of Xn»11 holds like ™, who maintains “role separation” (n2°9w//nn>ar)
(a) per: his dissenting opinion (end of n’nva) about noan n12 and narn nx7a
(i) note: this position proves that he holds (nva) N2°9w and (na23n) NP1 to be exclusive
iii  challenge: v.11is needed (per Y8ynw "7) - not only 32 (v. 3) but also v NnNNa IWYn require N7 1NN and DNR
1  answer: author of Xn»1 holds like 3"n” — inferred from v. 3 — pnT, DISN
(a) question: how can SYRynw’ "1 (presumably the author of k2 of “spilled/thrown” use v.1 for both?
(i) Answer: two xrin with different traditions about his teaching
2 Note: according to YRynw "1, we understand B7wa (v. 4) - as it only refers to 7122
(a) But:to a"n, that v. 3 refers to noa 1wyn, how does he read DIWa? — ooy VYN are eaten by rHya
(b) Answer: refers to both on 7131 as well as n”pa 7133, which are both given to 113
(c) Note: Hrynw 1 will infer this from 2 9 (v. 4)
3 Note: to 3", the ruling(s) that noay 9wyn ;7131 NNN cannot be offered (n:3 NN, 1:0 DNOY) inferred from v. 3
(a) Explanation: the emphasis on on — they, and not their mnn, are offered
(b) But: where does Y8ynw " infer this ruling?
(i) Answer: infers 9wyn from M1 via nNIavn::nIAYN (VV. 5-6)
(ii) And: infers noa from limiting X (v. 7) which disallows bringing noa nnn if before noa
iv Question: all of these n’Rin who use v. 1 for other derivations (e.g. all o7 goes to T1v’; noaY 2”yn have Nt NN) —
what is their source for our ruling (that one o1 nminn is sufficient)?
1 Answer: they accept n”a (that even nkvn’s requirements are satisfied with one ninn) and then infer all other
o’nar from nxon
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